
 

1

2

2

3

4

5

6

7

7

8

8

9

9
10

11

12

12

13

13

14

15

16

17

18 19

20

21

www.palfinger.com

PK 18002 EH # 1001322260700.02100-A

06/2009

Extension boom 2 + piping

Crane with more than 2 hydraulic extension boom



www.palfinger.com

PK 18002 EH # 100132226 0700.02100-A

06/2009

Extension boom 2 + piping

1 S205T02-C 1 296x160 mm            Boom extension-2
2 HIA 130A 2 Guide 3 mm                  
2 HF 578A 2 Guide 6 mm                  
2 HF 577A 2 Guide 5 mm                  
2 HF 576A 2 Guide 4 mm                  
2 HF 575A 2 Guide 2 mm                  
2 HF 608A 2 Guide 1,5 mm                
2 HF 727A 2 Guide 7 mm                  
2 HF 728A 2 Guide 8 mm
2 HF 899A 2 Guide
2 HF 900A 2 Guide
3 HF1378+00016 2 Guide block 16 mm                 
3 HF1378A+00008 2 Guide block 8 mm                  
3 HF1378A+00009 2 Guide block 9 mm                  
3 HF1378A+00010 2 Guide block 10 mm                 
3 HF1378A+00011 2 Guide block 11 mm                 
3 HF1378A+00012 2 Guide block 12 mm                 
3 HF1378A+00013 2 Guide block 13 mm                 
3 HF1378A+00014 2 Guide block 14 mm                 
3 HF1378A+00015 2 Guide block 15 mm                 
4 ES 050 3 M 10x20 ISO4762-10.9 Screw
5 HXE2341A 1 Cylinder guide

HA6610A 1 Bearer L0127.3xB0102xS008
EZ2402A 1 Guide block                       
ES 828 2 Screw M 10x40 ISO14581-8.8
EM 006 2 Nut DIN 934 M10 CL8 ZB  

6 UP1649A 1                       Extension boom ram

see page 0700.02101-A
-->100170298

7 EM 180A 2 M24x1.5 DIN 80705Nut
8 HIG 957 2 l=33 mm                      Pin
9 EZ2847 2 D 30x14               Guide block
10 HI 919 1 D 20x78                Pin

11 EQ 218 1 D 6x30 ISO8752Winding pin
12 HT5746 2 L=42 B=15 S=6 Bearer
13 EF 144 2                       Spring
14 HT9380 2 L0175xB0035xS005Bearer
15 KMG01766A 2 Guide block

HF1379A+00008 2 Guide block 8 mm                  
HF1379A+00009 2 Guide block 9 mm                  
HF1379A+00010 2 Guide block 10 mm                 
HF1379A+00011 2 Guide block 11 mm                 
HF1379A+00012 2 Guide block 12 mm                 
HF1379A+00013 2 Guide block 13 mm                 

16 HF 825 2 Guide block 9 mm                  
16 HF 826 2 Guide block 10 mm                 
16 HF 827 2 Guide block 11 mm                 
16 HF 828 2 Guide block 12 mm                 
16 HF1401 2 Guide block 7 mm       
16 HF1402 2 Guide block 6 mm                  
17 ES1089 4 M 8x10 DIN 7984 8.8      Screw
18 HLR 9428 1 D 16                  Pipe 
19 HLR 9429 1 D 12                  Pipe 
20 EA 039 1 GE 12S R3/8"-ED       Fitting

21 EA 074 1 GE 16S R1/2"-EDFitting

Description DimensionNo. Qty.Spare part


	INDEX 
	 EN 
	0700       Boom extensions
	0700.02100-A     Extension boom 2 + piping




	1_2251: 
	2_2252: 
	2_2253: 
	3_2254: 
	4_2255: 
	5_2256: 
	6_2257: 
	7_2258: 
	7_2259: 
	8_2260: 
	8_2261: 
	9_2262: 
	9_2263: 
	10_2264: 
	11_2265: 
	12_2266: 
	12_2267: 
	13_2268: 
	13_2269: 
	14_2270: 
	15_2271: 
	16_2272: 
	17_2273: 
	18_2274: 
	19_2275: 
	20_2276: 
	21_2277: 
	pos_2278: 
	pos_2279: 
	pos_2280: 
	pos_2281: 
	pos_2282: 
	pos_2283: 
	pos_2284: 
	pos_2285: 
	pos_2286: 
	pos_2287: 
	pos_2288: 
	pos_2289: 
	pos_2290: 
	pos_2291: 
	pos_2292: 
	pos_2293: 
	pos_2294: 
	pos_2295: 
	pos_2296: 
	pos_2297: 
	pos_2298: 
	pos_2299: 
	pos_2300: 
	pos_2301: 
	pos_2302: 
	pos_2303: 
	pos_2304: 
	pos_2305: 
	pos_2306: 
	pos_2307: 
	pos_2308: 
	pos_2309: 
	pos_2310: 
	pos_2311: 
	pos_2312: 
	pos_2313: 
	pos_2314: 
	pos_2315: 
	pos_2316: 
	pos_2317: 
	pos_2318: 
	pos_2319: 
	pos_2320: 
	pos_2321: 
	pos_2322: 
	pos_2323: 
	pos_2324: 
	pos_2325: 
	pos_2326: 
	pos_2327: 
	pos_2328: 
	pos_2329: 
	pos_2330: 


